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Table 1.3. The joint probability table P(A, B) in Table 1.2 can be found by mul-
tiplying P(B) = (0.4,0.4,0.2) by P(A|B) in Table 1.1.
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Table 1.5. The conditional probability table P(C|B) for the ternary variable C
given the ternary variable B.




P(A,C|B) = P(A| B)P(C| B)
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Table 1.6. If A and C are conditionally independent given B, then P(A,C'|B)

can be found by multiplying P(A|B) and P(C|B) as specified in Table 1.1 and
Table 1.5, respectively.
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Table 1.8. The probability table P(az2, B,C) that corresponds to the part of the
probability table in Table 1.8 restricted to A = as.
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Table 1.9. The calculation of P(B|az,C) using P(az, B,C) (Table 1.1) and

P(az,C) (equation (1.5)).



